
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

7, 662 × ________ = 7662 10, 153 × ________ = 1015.3

9, 26 × ________ = 92.6 4, 935 × ________ = 493.5

9, 528 × ________ = 9528 9, 308 × ________ = 9308

1, 942 × ________ = 194.2 2, 805 × ________ = 280.5

3, 556 × ________ = 35.56 6, 116 × ________ = 611.6

8, 077 × ________ = 80.77 1, 868 × ________ = 1868

4, 985 × ________ = 49.85 7, 199 × ________ = 7199

6, 709 × ________ = 67.09 2, 544 × ________ = 254.4

1, 104 × ________ = 11.04 5, 272 × ________ = 52.72

2, 304 × ________ = 230.4 1, 94 × ________ = 194
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

7, 662 × 1000 = 7662 10, 153 × 100 = 1015.3

9, 26 × 10 = 92.6 4, 935 × 100 = 493.5

9, 528 × 1000 = 9528 9, 308 × 1000 = 9308

1, 942 × 100 = 194.2 2, 805 × 100 = 280.5

3, 556 × 10 = 35.56 6, 116 × 100 = 611.6

8, 077 × 10 = 80.77 1, 868 × 1000 = 1868

4, 985 × 10 = 49.85 7, 199 × 1000 = 7199

6, 709 × 10 = 67.09 2, 544 × 100 = 254.4

1, 104 × 10 = 11.04 5, 272 × 10 = 52.72

2, 304 × 100 = 230.4 1, 94 × 100 = 194
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